Tennobas cems
7=95 °C

P=5 dap
Q=60.941kBm
G=2,096 M°/4
AP=0,3 dap
T=70 °C
P=4,7 oap

Iut ynpasnenus

ECL
7

L LC

Y3es B6oda

Y3esn crewerus

]

“®
776 9/]; 9 £ |75|9 CP;
%
5

T1§ ; it
7 LQ) 10 5 /4
9 Z pos 5
9 9 8 ap
: P o\ i 5
A ch) PN % 76 B N 10 [11 |22
<7 U/ A1 Lg) 5 !
g C
T T 4P=0.3 dap §5 10 (11 Tz 13
_____ [ G=149 M’/ (h
[ 940x3 N =049 0ap 4
2 5:|7_«5£”_/_“’__|__|
I Ay 50 ®40x3 Ay 50

6 i dperHax

nodBecmu k dpeHaxHoMy mpany mepMocmoukou
MexXHUYecKoU CUCMeMe KaHa/u3ayuu
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Cucmema omonneHus
T=90 °C

P=5 oap

Q=56,99 kBm

G=2.450 M’/ 4
AP=0,49 &ap

T=70 °C

P=4,51 dap

Cucmema BeHmunayuu
7=95 °C

P=5 oap

Q=395 kBm

G=0,136 M°/4

AP=0,49 dap

T=70 °C

P=350ap



